12"

1" 35/16 35/16" 35/16" 1"
b Jo

o~

1/4-14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4] 16"

(2) PER STRAP

GUTTER STRAP [FL—246] R A N A
BATTENLOK HS @ EVERY OTHER RIB 1 1 1 1 1
PANEL

N

GUTTER STRAP ATTACHMENT % % E %

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
FASTENER SPACING @ EAVE [FASTENER #1E]

BATTENLOK HS
PANEL

1/4=14 x 1 1/4 LONG-LIFE
URETHANE TUBE SEALANT SELF-ORILLER /WASHER
BETWEEN PANEL RIBS

EAVE END [FASTENER #1E]

5) PER 16" PANEL
OF PANEL §4§ PER 12" PANEL

FAVE SLALANT DETAL WAL pANEL/TRM URETHANE TUBE SEALANT
TRICKNESS BETWEEN PANEL RIBS
GUTTER STRAP [FL-246]
© EVERY OTHER RIB 19

TRI-BEAD TAPE SEALER —
[HW-504]

1/8 x 3/8 POP_ RIVET BATTENLOK HS PANEL
[FASTENER #14A]

@ 5-0" 0.C.

LOW FLOATING EAVE PLATE

[HW-7617] — -
1/4-14 x 7/8 LONG-LIFE LAPTEK -

W/WASHER [FASTENER #4]
(2) PER STRAP

URETHANE SEALANT MUST COME 2 3/4
IN CONTACT WITH TAPE SEALER
TO FORM A WEATHERTIGHT SEAL

8/s

1/4-14 x 7/8 LONG-LIFE LAPTEK n — |
W/WASHER [FASTENER #4]@ 12 0.C. ["“ |

FLOATING EAVE TRIM [F2952 ' “/
~ [7 ] p ‘ RIGID INSULATION
12-24 x 1 1/4 LONG-LIFE TEK 4.5 o (NOT BY MBCI)
W/WASHER [FASTENER #78] 37 x 5" x 14 GA. BENT VAPOR BARRIER
SCULPTURED GUTTER [FL-248A] L\ PLATE (NOT BY MBCI)
1/4=14 x 1 1/4 SHOULDER METAL DECK
TEK 2 SELF-DRILLER (NOT BY MBCI)
[FASTENER #5] @ 24 0.C.
12-24 x 1 1/2 PAN HEAD
1/4-14 x 7/8 LONG-LIFE LAPTEK TEK 4.5 SELF-DRILLER
W/WASHER [FASTENER #4]@ 12" 0.C. [FASTENER #16]@ 12" O.C.
OUTSIDE CLOSURE STRUCTURAL ANGLE

(NOT BY MBCI)
WALL PANEL——=

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION
(SEE PLAN)




